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Area of cultivated land Total
2 B F v J 5 & ¥ 1 7 M B 5 > * 7
| gEKRE | v = 7 | @ ® MEf | m | v = 7| & 1
% ha % ha
2 3| 100.0 4,372,000 it & & 100.0 1,143,000
1l & & & 26.1 1,143,000 1 + i 22.3 254,600
2 % i 3.9 169,000 2] FAR—=V7 14.5 166,000
3 % b3 3.7 163,600 3] k£ ) 114 130,500
4 & & 3.4 149,800 4 = Pl 9.9 113,600
5[ & F 3.4 149,500 5 1R £ 9.6 110,200
6| 3 B 7.7 88,500
LEICHITZILEEDS T 7l = 7 5.5 62,400
8 A 5 3.6 40,900
9] H = 3.4 38,800
101 # o 3.0 34,600
11| A8 = 3.0 34,400
12| B 2.3 25,900
26.1% 13| & = 2.1 24,100
tEE 14 1& il 1.7 19,000
i W Nz > F T (i~6040)
IEa | BT A & # 5 | ] & IBRz | T BT N & | # 5 H &
ha ha
11 7 & & R S 63,300 31 & = M R = 10,900
2 & & HT Eil B 28,900 3 & B HT FR=V7 10,900
3| & 1 oE AT R S 24,500 331l = 1R FR=V7 10,700
4 F E O + B 24,300 B & B OH FR=V7 10,700
5 & B @ FR=V7 23,700 3B d1 8 M Eil B 10,500
6| ® L ™ + B 23,000 3B| ERHF® = I 10,500
N & B H + B 22,500 37 % F W + I 10,400
8 F EF AT + B 21,400 37 N K ET FR=V7 10,400
9 = R R ™ % 0 19,800 9 B F RE AT # B 10,200
10 £ A ™ = I 16,600 401 X & M = 3] 10,100
111 + o A + B 16,000 Al #E ®H FR=V7 10,000
12| & ok H + B 14,900 2 B = @ R E 9,610
13| # A~ @ R = 14,700 431 ot H + B 9,510
13( B & H # B 14,700 ual B B N # B 9,470
15 K & M + i) 14,200 45 B & 6 H = 9,440
16| #@ = FR=V7 14,000 46| %= M W %= 0 9,410
171 8 JiI @ = I 13,800 AT O 72 HT H = 9,170
18 K = M FR=V7 13,700 48[ F B H FR=V7 9,050
19 B #F M + B 13,400 9 B F & # B 9,010
200 & E AT R = 13,300 50( & B HT a ¥F 8,520
21 = m fr + I 12,600 51 #& B ™ FR=V7 8,510
22| B B AT + B 12,200 b2 ®® & HT R = 8,210
23 & B M + B 12,000 53 & & H FR=V7 7,700
23 & & R S 12,000 54 & = M HT FR=V7 7,480
25 R ™ % 0 11,500 55| %= F HT iz} il 7,440
25 & B A + B 11,500 56| % o T H = 7,170
25| & & A7 + B 11,500 57 & L A A =+ B 7,120
28| B MR HT + B 11,300 58 Al F A5 HET FR=V7 7,050
29 & A H % 0 11,200 59| T Bl 0™ a ¥F 7,040
29| Lk X iR HT + i) 11,200 60| & A b H iz} il 6,670




oW N5 v F v T G~ 1T96)

IEEEERE: g | ® %E IEEEERE: B | & i
ha ha
61 A E W E 1= 6,600 121 FoS 7 B B 2,610
62 # /& H + B 6,520 122 A ] @ A S 2,570
63| & W H + I 6,490 122 k& # H + JI 2,570
64| LEREHE i I 6,380 124 SR & A HT Jil=! & 2,550
65 = EY Fik—Y 4 6,330 125 ® @& H % & 2,510
66| L~ E H + P 6,190 126 & 75 #B HI & = 2,450
67 BE A HT + i3 6,060 127 B8 F &8 & % & 2,390
68 E oL H = # 5,930 128] £ I g *t JI 2,310
69| & 4B 7 H = = 5,920 1291 /N EH 2 i3] 2,250
70 7= A M7 o L 5,900 1301 &= # T # pac) sl 2,020
71 F m ™ A 5 5,870 131 (X = S & = 1,940
72| B - E 7 vl 5,850 131 &£ & B & A 5 1,940
73 b= I FR—=V7 5,700 133 2 F # AB & 1,910
Z{ IR S i 5,690 134 2 Y & BB ] 1,840
7B RO N R = 5,640 135 B M *t JI 1,830
6 & & B i@ Wy 5,620 136| oW KN = W 1,750
7 [EZR %z # 5,590 137)] FEBRFIN *t ) 1,730
8 B ¥ 0@ a ¥F 5,540 138 A BB A FR=V7 1,630
79 b7 D) N1 H = 5,450 139 M AN H & = 1,540
80| = )IlEy 7 % 5,380 40| B o 0@ ke 4] 1,500
sl w2 N A& 5 5,140 1l = A B # = 1,490
82 H /M H #% & 5,110 142 T % B Jil=! & 1,480
83 ® m W = A0 5,100 143 & ® B % = 1,420
84| % B H E )l 5,010 44l = = e al 1,340
85| # & W B i 4,960 45| E N w8 IR 1,240
86 = R B i I 4,830 145 = X B BT % & 1,240
87 B 7 f FR—=V7 4,800 147 =] =z Jilz! & 1,230
88 H & & il B& 4,790 148 T = ® I i 1,080
89| ¥ H H = = 4,660 149 ® ®@ 2 Er 1,060
9 # = H + Nl 4,620 150 & B @ A8 IR 1,030
91 % A0 AT + JI 4,610 150 #& @ H H = 1,030
92 B ®M % Hy #% & 4,530 152 t g i il 990
93 L R HT + JI 4,360 153 K & W H E = 982
94| E M H i JI 4,320 154 g B H El =S 948
95 B E W a ¥ 4,300 155 * FH z sl 836
96 d A mH E B 4,250 156 Z BB HI i il 834
97 A B %= # 4,130 157 #& g % & 828
98 oM #% & 3,990 158 #& # I & % & 786
99| E R #B HT i i 3,950 159 o E B 3] 765
100 = B My 2 3] 3,890 160 # H g liss = 740
101 == T - = 7~ 3,690 161 A - ) % sl 726
102 & L+ H FR—=V7 3,640 162 HF B8 & *t JI 712
103 T N Hr i JI 3,620 163 =B R AT i} il 596
104 F )l HT + U 3,570 164 ™ ®p  H & = 436
105| = JII M i JI 3,550 165 = W H % & 348
106 E Bl W %z # 3,540 166 E i M % & 297
107 M B W %= gl 3,630 167 # #8 HT % & 267
108 T == N %= gl 3,470 168 B HF g i = 230
109 %% & 4 H %= # 3,430 169 T B 0™ AB & 227
110 2 & KN By #% & 3,400 170 /M 8B % & 183
111 B o X OE i JI 3,220 171 & B H & = 106
112 = @1 A7 2 3] 3,210 172 57 F  H % & 81
113 it = H# %= gl 3,200 173 # R HT = “® 18
114 A i ] %z # 3,110 174 MR ZE L H R “® 14
1151 # R 7 H i # 3,090 175 TEARND pac) Pl 12
16| = B H % & 3,010 76| A x &R 7 7
171 £ & B E & 2,990 77| M oEom R % = 2
118 MERE i I 2,880 178 £ ® JIl H pac) sl 1
19 B g m B 3 2,820 179 3 N % & 0
120 = & O M7 % > 2,730
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Area of cultivated land Paddy field

£ H kv J 5 & T x 7 M 5 > * v 7
| sEmes | v = 7 | @ " N | m | v = 7| & %ﬁ
% ha % ha
2 = 100.0 2,379,000 it & & 100.0 222,000
1] & & = 9.3 222,000 1| = AN 41.0 91,100
2| # ] 6.3 150,100 2l k il 27.4 60,800
31 H 5.4 128,700 3| & 5 9.5 21,100
4 = b} 4.4 103,700 4 B I 4.3 9,490
5| & = 4.1 97,900 5 1&g i 4.1 9,000
6| #% & 3.9 8,560
2EICHEITHIBENY T 7| = E7] 3.8 8,400
8l E = 2.9 6,500
9l H = 2.1 4,740
10 #HF—v72 0.7 1,610
1] + B 0.3 761
9.3%
vmE
i W A Z > F T (Ni~60hL)
B | wOET R & | 5 | & i IR | @ *
ha ha
1] & R R ® b pil 16,400 311 & & & i il 2,630
2 8 @ + n 10,700 2( A ® z bl 2,610
3f = B @ + n 9,160 3B #£ M H % & 2,570
4 & B b pil 9,000 34| B B 0w b pl 2,460
5 %€ M| ™ % bl 8,720 4l € 2 A EH iy b 2,460
6| F N ™ b bl 8,630 36| H B & b pl 2,450
77 % B E e = 6,080 37| E W R m + N 2,360
8l & &H @ + n 5,190 38| B OE ™ e = 2,350
9| ® MR HT % bl 5,110 39 & 2+ 0@ & = 2,340
10 # & 2 & a 7 4,840 9 & & H + n 2,340
11 %+ =2 I By % bl 4,640 41 = B + n 2,250
121 5T & @ A 7 4,360 2l /m K W a 7 2,240
13] B 1= @ % bl 4,020 43 E R & E iy b 1,970
14 F L #y z bl 3,990 a4 N F O HET B ] 1,920
15 & » b H =] i 3,770 a4l 3 1] E &7 ] 1,920
6 & N @ z bl 3,760 46 &= F L H % b3l 1,850
171 % jFk H + n 3,690 47 = R EHE + n 1,840
18] & + n 3,610 48 & @1 H &7 ] 1,660
199 B B JiE] s 3,520 49 &  jI  H + n 1,560
20 #% ¥ 4 H % bl 3,250 50( F B HT = = 1,540
21l W™ ® AT % bl 3,220 51 #% s A HT + n 1,510
22( B B z bl 3,140 52 #FHOEHhE H = 1,340
23] FERBE + N 3,100 53 £ Bk OH & = 1,300
241 & W HT + n 3,060 54 & ¥ H =] i 1,160
25 B R ¥ W + n 3,040 55( s AN HT & = 1,090
26| B M m % b 2,930 56| & B 0 FiR—=V 7 1,070
27 =&| I H i I 2,900 570 B & H = = 1,060
28 & &R B HT z bl 2,800 58 B2 % &= HT % i 936
29 4 =w H k) pil 2,790 59 B Il k) pl 879
0( M1 =E H + n 2,720 60 ST #= H iy i 877
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ha

61 @ W 5 K B G 829
62| = B M & ] 800
63| B w m B i 792
64 = K H % & 706
65| & ¥ T %z Pl 701
66| L / ) 8 ik 672
67 = & 2 H *® & 638
68 + m® ™ A 5 637
69| A & M E K B 557
0 = % W = Pl 543
[0 VA== i) & = 520
720 kI HT + N 504
31 ) HT £ M 502
I # 481
BF OE W LE} & 458
76 % 0w A H = 454
7 R & A 53 441
8 £ R + N 406
9 & i) & = 373
" B OE @ + s 373
81 & H + s 339
82| K = H FR=V7 337
83 # &H M L] i 310
84 =z & H 1 ik 297
5| # @ m A = 243
86| B 8 & = 227
87| MERH £ M 224
88| Ao NH & = 208
89 A M| A 53 181
90 & M KN E *® & 175
9 H W B & & 162
92 % & @ = pSI| 142
Bl & H A8 & 140
o4l w8 IR 126
95( Al ¥ & Hr FR=V7 109
%| # @ @ A % 97
97| & B N £ M 87
9| ® R H i th 86
9 & ™ AT % & 72
1001 = 1% M FR=V7 65
01 & & & E 5 62
102 & ¥ % & 48
w03 # B B E 5 33
03| B % A # = 33
105 & &I H7 + s 31
106 = & Hy % & 28
07 # B fy FR=V7 26
08 % #® W & = 18
108 A Bl HT + s 18
ol 4 & @ % & 17
m| = om N # & 14
112 = B @ LE} & 11
113 M & FR=V7 6
114 = & fr FR=V7 2
15| B % B H & = 1
115 = 7% A f7 #® & 1
7 & B 8 i 0
wy| wEA A % & 0
17| B % = 0
ur) %/ m + B 0
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Area of cultivated land Upland field

£ H kv J 5 & T x 7 M 5 > * v 7
| gEFRE | v = 7 | @ # A m | v = 7| & 1
% ha % ha
2 = 100.0 1,993,000 it & & 100.0 921,400
1] & & = 46.2 921,400 1l + B 27.6 253,900
2l B R B 3.9 78,700 2| Ak —v o 17.8 164,400
31 & FoS 35 70,400 3| R = 12.0 110,200
4l & b4 3.4 67,600 AR B 9.6 88,500
5| & F 2.8 55,500 5| E N 7.6 69,700
6| = 7 6.8 62,400
2EICEITSEEDY =7 71 B = 3.7 34,000
8l #® = 2.8 26,000
9| fB I 2.7 24,900
10| =z El 2.5 22,600
11 & 5 2.1 19,800
12| & = 1.9 17,600
13| # ] 1.9 17,400
14| 1& i 1.1 9,970
o B Mz 2 F T (hi~606L)
M| TR N & | 5 | & " IR 5 | @ F

ha ha
1l B & H R’ S 63,300 30 /N E ok HT FR=7 10,400
2 & F H bl B 28,900 2 5 FRE & | B 10,200
3| 1o AT Uiz} S 24,500 B X & = ] 10,100
4 F = + f 23,900 34 S ®EH FR—V Y 10,000
5| ® L + B 23,000 3] B E W Uiss E 9,610
6| & B ™ FR=Y 7 22,700 B B B N Eill B 9,470
7N & A & + f 22,500 37 . B OE + f 9,170
8l = = m + f 21,400 8 F B H FHR=v 7 9,050
9 =+ W® m + B 16,000 9 B2 B & Eill i 9,010
10 & sk HT + B 14,900 40 s B @ FR=V 7 8,510
11| # A" @ = = 14,700 a1 B & & = = 8,380
11| & & & Eill B 14,700 a2( W] mE OET = = 8,210
13 K #& + f 14,200 3 HwFoEnrE =] = 7,820
14 #® £ ™ FiR—=V 7 14,000 44 =& OB HT FR=V 7 7,700
15| 2 & H#r + f 13,400 4B B R B ® + n 7,480
16| & &= H#r R 2 13,300 451 kB M OEr FR=V 7 7,480
6] K = ®H FiR—=V 7 13,300 471 + B @ + n 7,450
18] B &8 + f 12,200 48| AL AN A + f 7,120
191 & F + f 12,000 49 EIl F AF ET FrR—=V7 6,940
191 & =2 ® Uiz} S 12,000 500 0w = = 6,720
21 & A W& + B 11,500 51| # 1§ H + B 6,520
21 & @\ om + B 11,500 52 B OHT FR=V 7 6,330
23 A MR HT + f 11,300 B3]l & ¥ JiE] i 6,290
24 k£ £+ 1R HY + B 11,200 54| L B H + B 6,190
25| & = m R A 10,900 55| A E H & = 6,080
25| B B HT FiR—=V 7 10,900 56| B Bl HT + B 6,060
271 N B om FiR—=V 7 10,700 57| ik @ B HT R = 5,920
28] = 0w m FiR—=V 7 10,600 58 # Bl H FR=V 7 5,680
291 8l B& ™ Eill i 10,500 59| = i W R 7® 5,640
30| = B m + N 10,400 60| + m e = 5,230




L A A () DA Y D)

IR E g | m G IEEEERE: g | @ B
ha ha
61 & A A H = 5,210 21 B B @ z 0 1,080
62 &% B ™ + M 5,180 122 B & Hr & & 1,050
63 E F M FR=V7 4,800 123) & B e b 1,030
64 B f& H gl e 4,790 124 ' @A Hr z= A 1,020
65| % &R M + N 4,600 125 & ®H B z A 991
66| L=REHE + M 4,540 126 #I B HT Eill B 948
67( B E W L] & 4,500 127 #% fU Hr H = 936
68| W H HT R = 3,690 128 # i B A 4 3 921
69| & Lt M FR=V7 3,640 129 3 ] Hy = # 902
70| B A &= B % & 3,590 130| =R 4R X A7 £ n 856
oI E + M 3,670 131 & i) & & 828
21 & o B & ik 3,440 132 = % z A 801
3 & M HT + M 3,420 133 = K Hr & & 786
oE ROR® z A 3,400 134 # A+ 2)IE z AN 747
6] = S A 53 3,300 135 % B Hr R = 740
76 2 M Py AT *® & 3,220 136 & 1 Ay £ N 703
7 F B H H = 3,120 1370 % ™M & z= A 686
8 )i H + N 3,110 138 & AR T £ M 674
79( MR A0 A9 HT + M 3,100 138 ® )i T £ n 654
80| &= A My £ # 3,090 1400 & B H £ M 625
8l 1 JII T £+ N 3,030 1“1 ® N @ z A 624
82 B I N % & 2,990 142 % % @ z= A 584
83 & = M & ik 2,980 143 & H & #*® & 578
84 © I b H LE} & 2,900 144 <z & HI & i 537
8| &E I % gl 2,890 145 ®| R Hr @ ] 510
8| I B ™ A 53 2,680 146 R & H z= A 498
87| MERH + M 2,660 147) m@ R A7 z= A 471
83| # M H % & 2,540 148 s WA H A 5 447
89 = & % & 2,480 149 K & A HT A 5 425
90| & A #B H & = 2,450 150 4 = H z= A 406
91 = B M " 13 2,440 151+ B E i 5 403
92| A & 4 H LE} & 2,430 152 /¥ B 3 321
9 A |’ @ A 5 2,390 153 £ / i) & i 318
Bl B F A M % & 2,390 154 W™ =® H z= A 308
95| #& i) & = 2,240 155 #r & N A ¥¥ 303
9% & A& M = Pl 2,180 156 #% & Al ET = A 296
97| B E LE} & 2,170 157 & £ B 3 284
98| = & o Hr % & 2,090 158 B ®8 & 3 271
9| B R ®E I8 if 1,980 159 = B & Lk il 270
00| ® OE v A 7 1,950 160 & W N % = 264
101 = L H7 = Pl 1,940 161 # #B #*® & 249
102 & 3+ & & = 1,910 162| g & HT A 5 230
103 # & i N 1,900 162 & #  H £ n 230
104 B = H7 = Pl 1,840 64 = B ™ iz} i 216
104 2 Y b H H = 1,840 165 T = 7 g i 207
106 £ Jin + M 1,810 66| &= ~W #*® & 186
w7 & & fr LE} & 1,770 167| #% & 4 H = A 185
108] hEREH i N 1,730 168| = # I HI z= A 176
108 EETFHN + M 1,730 169 /18 & & & 166
110 & #& @ & = 1,710 ol &~ ¥ @ z= A 135
111 t© &k H# & = 1,690 171 B B M A 5 44
112\ 78 ®| & A FR=V7 1,630 172 & ¢ H & & 33
113 & &1 H7 & B 1,550 173 ® R AT R “ 18
14 X K & ™ A 5 1,500 174 F RS £ BT R “ 14
15| % W B # & 1,350 75| mE R HZ 0 12
116 & NI @ = Pl 1,330 176 L x Hr R “ 7
w| EamE B IR 1,240 77| woEAN % = 2
1171 & & B fy % & 1,240 178 L # Il HT z= A 1
SCINN I iR 1,230 179] i B # = 0
1200 4 B iR 1,170




